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Match-up:

For each numbered term, enter the letter corresponding to the definition that best matches the term.

____ 1- cyclone

A- An intense downdraft impacting a relatively small area.
____ 2- mesocyclone

B- A sudden change in wind speed or direction with distance.
____ 3- microburst

C- A counterclockwise circulation that develops in a supercell thunderstorm and 





could evolve into a tornado.
____ 4- wind shear

D- A large low-pressure weather system in which surface winds blow 






counterclockwise and inward when viewed from above in the Northern 





Hemisphere.
Short Answer:

5)  What is the relationship between a severe thunderstorm and a tornado?   

_____________________________________________________________________________________

6)  What is the relationship between a mesocyclone and a tornado?


_____________________________________________________________________________________
7)  In general terms, compare the diameter and life expectancy of a tornado with that of a supercell thunderstorm

_____________________________________________________________________________________ 
8)  What is the difference between a weather-watch and a weather-warning?.

_____________________________________________________________________________________

True or False:

9)   T  /  F  --  Most supercell thunderstorms develop as part of a squall line.
10)   T  /  F  --  Each year the U.S. has about 1000 tornadoes.
11)   T  /  F  --  Almost 80% of all tornadoes are violent and cause major damage.
12)   T  /  F  --  Most intense tornadoes develop in supercell thunderstorms.
13)   T  /  F  --  Tornadoes usually track from southeast to northwest.
Bonus Questions:  

Which country has exploded the largest atomic bomb so far?  ___________________________
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